Pythagoras theorem in 3D
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Exam question:
A cuboid has length 3cm, width 4cm and height 10m.
Calculate the length of AB.
Give your answer correct to 1 decimal place

11.2cm




Trigonometry in 3D
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Exam question:
A cuboid has length 3cm, width 4cm and height 10m.
Calculate the angle £ ABC.
Give your answer correct to 1 decimal place

15.6°

3cm

B




Sine or Cosine Rule in 3D 120C
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=| Exam question:

A square based pyramid is shown in the diagram
Calculate the angle of AED labelled (x)

Leave your answer correct to 2 decimal places

21.61°




